MATH 244/GRACEY Name,

CH. 8 PRACTICE

Graph the parabola. Graph the parabola.
1) x:%yz 4) (x+ 372 =6(y - 3)

Find an equation of a parabola that satisfies the given
Find the focus and directrix of the parabola. conditions.

3) y2 = -8x 6) Vertex (8, 10), focus (8, 16)



7) Vertex (6, -3), focus (9, -3) Find the equation of the ellipse corresponding to the given
information.

12) The foci F1 and Fp, the vertices V1 and V3, and
the endpoints U1 and Uy of the minor axis are
as labeled in the figure.

8) Focus (10, -1), directrix y = -3

9) Focus (-10, -4), directrix x = -20

Graph the ellipse satisfying the stated conditions.

10) The equation is 9x2 + y2 =09. Graph the ellipse.
(x+5)2 (v +4)?
B) =55+ =1

Find the foci and endpoints of each axis for the given
ellipse.

11) 16x2 + 25y2 = 400




Find the center and radius of the circle.
18) (x-1)2 + (y + 5)2 =36

19) x2 + y2 + 10x + 2y = 55

20) x2 - 14x +y2 + 14y + 73=0

Identify the vertices and foci.
x-22 (y-472 _
64 100

1

15) {

Graph the equation.

Find an equation for the indicated ellipse.
16) Center (3, 5), focus (3, 6), and vertex (3, 10)

Find the standard equation of the circle that satisfies the
conditions.

17) Center (3, 22), containing the origin



Find the foci and asymptotes of the hyperbola. Find the standard equation of the indicated hyperbola.
y2 X2 1 26) Center (-1, 5), focus (-1, 10), vertex (-1, 8)

)___

144 81

Find the vertices and foci of the hyperbola.

Find the standard equation of the hyperbola. 27) (y - 5)2 _(x- 32 1
23) Foci at (0, +7), a conjugate axis with length 6 9 16
Graph the hyperbola. 2 - 2)2
p yp 5 ) 28) y+2- (x-2) 1
24) x-1)~ (-2 1 144 256
49 4

Graph the hyperbola.
-3)2 2
20 W32 _(+52

9 16

Find the vertices and foci of the hyperbola.
x-22 (y+272 _
36 64

25 1




Find the foci and asymptotes of the hyperbola. 35)

2 2
Xz ¥y
) 144 81 !
2 2
)= -1
225 400

Find the standard equation of the circle that satisfies the
conditions.

32) Center at (-7, 7), radius 4

Identify the vertices and foci.

(x+12  (y-12
3) 55 *Ta0 !

33) Center at (-7, -10), radius ,\/E

(x+2?2  (y-4)2 _
)@ a0 !

Find an equation for the indicated ellipse.
34) Vertices (4, -3) and foci (2, -3)



Plot the point (r, 0). 40) (2, -37/4)
38) (4, -135°) ]

41) (4, 5/4)
39) (-2, 225°) 1

Determine if the given polar coordinates represent the
same point.

42) (5, 180°), (5, -180°)



43) (3,130°), (3, -50°)

44) (3, 0°), (-3, 360°)

Change the given polar coordinates (r, 0) to rectangular
coordinates (x, y).

45) (3, 1/6)

46) (-9, 270°)

47) (-5, 4m/3)

48) (8,45

3
49) [4, > ]

50) (-8, 90°)

51) (1,270°)

52) (3,30°)

For the point given in rectangular coordinates, find
equivalent polar coordinates (r, 0) for r > 0 and
0° =6 < 360°.

53) (443, 4)

54) (-3, 34/3)



For the point given in rectangular coordinates, find

equivalent polar coordinates (r, 0) forr> 0 and 0 <0 < 2m.

Approximate 0 to the nearest hundredth of a radian.
55) (8, -15)

56) (-15, -8)

57) (60, 11)

58) (-8, 15)

Graph the polar equation.

59) r=2sin 0
7]
6-
_I6 T T T T T |
64

60) rsin0 =4
6-
_I6 T T T T T |




61) r=6+6sin0 63) r="7sin20

62) r=2(1 +2 sin 0) Write the equation in polar coordinates.
64) 2x+ 3y =6

65) x2 - y2 =4

66) xy =1



Find an equivalent equation in rectangular coordinates.
67) r(1-2cosB)=1

5
68) r=—-—
) 1+cosO
69) r=cos O

With your calculator set to radian mode and polar graphics
capability, graph the following function in the window
specified.

70) r=2-2sin 0, -2m = 0 = 2m, [-4, 4] by [-4, 4]

71) r =26, -37 < 0 = 37, [-20, 20] by [-20, 20]

72) r=2sin36,0=0 <2, [-2, 2] by [-2, 2]

10

Graph each pair o

f parametric equations.

73) x =12,y =Aft+2; 0=t <4

74) x = t2,y:21nt,' O<t< o

5 10 15 x




75) x=3+1,y=t3-10;-2=t=<2 Describe the curve defined by the given parametric

Ty equations.
79) x=4cost, y=4sint;0=st=m
-30 30 x
Graph the parametric equations.
80) x=t+2,y=(t+1)2;0<t =<2
-40.

Find a rectangular equation for the curve with the given
parametric equations.

76) x=sin 0, y =3 cos 0

77) x=t-3,y=t2+5

81) x = 6cos[%t], y = 6sin [%t} O=<st=2m

78) x =sect, y=tant

11



Describe the curve defined by the given parametric
equations.

82) x=t-4,y=t2+3;-5<t=<5

83) x=t-5y=t2+8;,-5<t<5

Convert the given equation to parametric equations.

84) eX =y% +2

85) 5x + 9y =7

86) x2 +y2 =81

12



Answer Key

Testname: CHS8PRAC

13

6) 24(y - 10) = (x - 8)2
7) (x - 6) :L?’)Z

8) (x - 10)2 =4(y +2)
9) (y +4)2 =20(x + 15)

10)

. . N N N _5..-
11) Foci: (+A/9 ,0)

; vertices: (£5,0) ;

endpoints of the minor axis: (0,+4)




Answer Key
Testname: CHS8PRAC

15) (2/ _6)/ (2/ 14)/ (2/ _2)/ (2/ 10)
16) & ;43)2 L ;55)2 _1 25) Vertices: (8, =2), (-4, -2); Foci: (-8, =2), (12, -2)
26) (Y‘5)2 _ (X+1)2 =1
9 16
27) Vertices: (3, 8), (3, 2); Foci: (3, 10), (3, 0)
28) Vertices: (2, 10), (2, ~14); Foci: (2, 18), (2, -22)
29)

4 4
22) (0,-15), (0,15); y =—=x, y = - =X
) OBy =gxy=-3 30)(—15,0),(lS,O);y:%x,y:—%x
2 2
y_x=_
P9 ! 31) (-25,0), (25,0 y = 3%,y == 5X

32) (x+7)2+ (y-7)2 =16
33) (x+7)2 + (y + 10)2 =6

x2  (y+3)?
34)1_6+ B =1

42 (y+3)?
6 * 25 =1

36) (=26, 1), (24, 1); (-16,1), (14, 1)

37) (-2, -16), (-2, 24); (-2, -12), (-2, 20)

35) (XI

14



Answer Key
Testname: CHS8PRAC

38)

39)

40)

15

41)

42) Yes
43) No
44) No

3 3
45) ?%

46) (0,9)

47) | = 5 5“/_
48) (4, 4@

49) (0, -4)
50) (-44/2, -4n2)

51) (0, -1)

52) 34_ 3

53) (8, 300)
54) (6, 120°)
55) (17, 5.20)
56) (17, 3.63)
57) (61, 0.18)
58) (17, 2.06)
59)

\_/




Answer Key
Testname: CH8PRAC

60) 63)

64) r(2cos B+ 3sin Q) =6
65) r2cos 20 = 4

66) r2sin 20 =2

67) A[x2 + y2 =1 +2x

68) y2 =25 - 10x

69) x2 + y2 =X

70)

71)

72)

16



Answer Key
Testname: CHS8PRAC

73)
oTr
=20 i
-10
74)
1¥
ol
75)
0Ty
=30 o %
-]

76) 9x2 +y2 =9

77) y =x2 + 6x + 14

78) x2 -y2 =1

79) Upper portion of a circle

17

80)

81)

82) Lower portion of a parabola
83) Lower portion of a parabola
84) x=In(t4+2),y=t

7 5

85) X:t,YZE—Et

86) x = 9cos t, y= 9sin t



